

Email: universitypresident@minsu.edu.ph Website: www.minsu.edu.ph Mobile: +63 977 846 72 28



#### University Bids and Awards Committee Resolution No. <u>187</u>, S. 2024

DECLARING FAILURE OF REQUEST FOR QUOTATION AND RECOMMENDING NEGOTIATED PROCUREMENT. FOR THE SUPPLY AND DELIVERY OF AGRICULTURAL SUPPLIES AND OTHER SUPPLIES FOR THE OPERATION OF BANANA TISSUE CULTURE OF MINSU MAIN CAMPUS

WHEREAS, the Mindoro State University (MinSU), through the Bids and Awards Committee (BAC) has advertised in the PhilGEPS and MinSU Website the Request for Quotation (RFQ) for the project "Supply and Delivery of Agricultural Supplies and Other Supplies for Operation of Banana Tissue Culture of MinSU Main Campus" with an Approved Budget for the Contract (ABC) amounting to One Hundred Fifty-Nine Thousand and Forty Pesos (Php159,040.00);

WHEREAS, in response to the first publication of the project on July 09,2024; two (2) suppliers were found in the document request list however, no supplier submitted the Request for Quotation (RFQ) thus, declared failure of RFQ;

**WHEREAS**, based on the declared failure, the BAC recommended for the second publication of the project on September 16,2024; one (1) supplier was found in the document request list however, no supplier submitted RFQ for the second time;

NOW, THEREFORE, the of Bids and Awards Committee (BAC) HEREBY RESOLVED AS IT IS HEREBY RESOLVED that the BAC recommend to the University President approval of resorting to Alternative Method of Procurement through Negotiated Procurement under Section 53 "Annex-H" of the R.A. 9184 for the "Supply and Delivery of Agricultural Supplies and Other Supplies for Operation of Banana Tissue Culture of MinSU Main Campus";

RESOLVED, at MinSU Main Campus, Alcate, Victoria, Oriental Mindoro, this 24th day of September, 2024.

CIEDELLE P. SALAZAR, J.D., Ph.D. BAC Chairperson

Engr. MARK LESTER A. MAGPANTAY

BAC Vice-Chairperson

FRANIE M. AFABLE, DBMHM BAC Member ATTY. SHERLYN A. LAYESA BAC Member

MELGAR G. FADRIQUELAN BAC Member

Approved/Disapproved

ENYA MARIE D. APOSTOL, Ph.D.

SUC President III

Date:



Central Portal for Philippine Government Procurement Oppurtunities

#### **Bid Notice Abstract**

## Request for Quotation (RFQ)

**Reference Number** 

11253335

**Procuring Entity** 

MINDORO STATE UNIVERSITY

Title

Supply and Delivery of Agricultural Supplies and Other Supplies for the Operation of Banana

Tissue Culture of MinSU Main Campus

Area of Delivery

Oriental Mindoro

Solicitation Number:	RFQ No. 2024-141 - A	Status	Closed
Trade Agreement:	Implementing Rules and Regulations		
Procurement Mode:	Negotiated Procurement - Small Value Procurement (Sec. 53.9)	Associated Components	1
Classification:	Goods	Bid Supplements	0
Category:	Agricultural Products (Seeds, Seedlings, Plants)		
Approved Budget for the Contract:	PHP 159,040.00	Document Request List	1
Delivery Period:	30 Day/s		
Client Agency:		Date Published	16/09/2024
Contact Person:	MARK LESTER A MAGPANTAY		
	Head, BAC Secretariat Alcate Victoria Oriental Mindoro	Last Updated / Time	16/09/2024 00:00 AM
	Philippines 5205 63-9-154612960	Closing Date / Time	23/09/2024 17:00 PM
	macmagpantay@minsu.edu.ph		

#### Description

Please quote your lowest price on the items / listed below, subject to the General Condition on the last page, stating the shortest time of delivery and submit your quotation duly signed by your representative not later than in the address stated in the last page.

NEMESIO H. DAVALOS, Ph.D.

**BAC Chairperson** 

Note: 1. All entries must be typewritten.

- Delivery Period within \_\_\_\_ calendar days.
   Warranty shall be for a period of six (6) months for supplies and materials, one (1) year for Equipment, from date of acceptance by the procuring entity.
- 4. Price validity shall be a period of 30 calendar days.
- 5. G-EPS Registration Certificate shall be attached upon submission of the Quotation.
- 6. Bidders shall submit Original Brochures showing certification of the product being offered (optional).
- 7. Mode of delivery: [ ] Pick-up (Schedule) [ ] Door to Door Delivery

Item No. Unit ITEM AND DESCRIPTION QTY. UNIT PRICE TOTAL AMOUNT

Lot 1 - Chemicals

- 1 bottle 6-Benzyl Amino Purine, 5g 1
- 2 bottles Plant Tissue Agar, 500g 3
- 3 bottles Myo-inositol 2

Lot 2 - Other Agricultural Supplies

- 1 bundle PEB 4x4x7, 100pcs/bundle 150
- 2 bags Complete fertilizers 10
- 3 bags Amosol 2
- 4 L Fungicide 5
- 5 gal Herbicide (Glyphosate 480 SL) 5
- 6 L Insecticide, 247 ZC 3
- 7 truckload Rice Hull, 16cu 3
- 8 truckload Garden Soil, 16cu 2
- Lot 3 Other Supplies
- 1 pcs Porcelain Receptacle #2 with base for Amglobe 4

Created by Annabelle Quinto Madrigal

**Date Created** 15/09/2024

The PhilGEPS team is not responsible for any typographical errors or misinformation presented in the system. PhilGEPS only displays information provided for by its clients, and any queries regarding the postings should be directed to the contact person/s of the concerned party.

© 2004-2024 DBM Procurement Service. All rights reserved.

Help | Contact Us | Sitemap

Central Portal for Philippine Government Procurement Oppurtunities

## **Bid Notice Abstract**

9/23/24

## Request for Quotation (RFQ)

**Reference Number** 

11030708

**Procuring Entity** 

MINDORO STATE UNIVERSITY

Title

Supply and Delivery of Agricultural Supplies and Other Supplies for the Operation of Banana

Tissue Culture of MinSU Main Campus

Area of Delivery

Oriental Mindoro

•			
Solicitation Number:	RFQ 2024-141	Status	Closed
Trade Agreement:	Implementing Rules and Regulations		
Procurement Mode:	Negotiated Procurement - Small Value Procurement (Sec. 53.9)	Associated Components	1
Classification:	Goods	Bid Supplements	0
Category:	Agricultural Chemicals		
Approved Budget for the Contract:	PHP 159,040.00	Document Request List	2
Delivery Period:	30 Day/s		
Client Agency:		Date Published	09/07/2024
Contact Person:	MARK LESTER A MAGPANTAY		
	Head, BAC Secretariat Alcate Victoria Oriental Mindoro	Last Updated / Time	09/07/2024 00:00 AM
	Philippines 5205 63-9-154612960	Closing Date / Time	16/07/2024 17:00 PM

#### Description

Please quote your lowest price on the items / listed below, subject to the General Condition on the last page, stating the shortest time of delivery and submit your quotation duly signed by your representative not later than \_\_\_\_\_ in the address stated in the last page.

NEMESIO H. DAVALOS, Ph.D.

BAC Chairperson

Note: 1. All entries must be typewritten.

Delivery Period within \_\_\_\_ calendar days.

3. Warranty shall be for a period of six (6) months for supplies and materials, one (1) year for Equipment, from date of acceptance by the procuring entity.

4. Price validity shall be a period of 30 calendar days.

5. G-EPS Registration Certificate shall be attached upon submission of the Quotation.

macmagpantay@minsu.edu.ph

6. Bidders shall submit Original Brochures showing certification of the product being offered (optional).

7. Mode of delivery: [ ] Pick-up (Schedule) [ ] Door to Door Delivery

Item No. Unit ITEM AND DESCRIPTION QTY. UNIT PRICE TOTAL AMOUNT

Lot 1 - Chemicals

- 1 bottle 6-Benzyl Amino Purine, 5g 1
- 2 bottles Plant Tissue Agar, 500g 3

3 bottles Myo-inositol 2

Lot 2 - Other Agricultural Supplies

- 1 bundle PEB 4x4x7, 100pcs/bundle 150
- 2 bags Complete fertilizers 10
- 3 bags Amosol 2
- 4 L Fungicide 5
- 5 gal Herbicide (Glyphosate 480 SL) 5
- 6 L Insecticide, 247 ZC 3

7 truckload Rice Hull, 16cu 3 8 truckload Garden Soil, 16cu 2 Lot 3 - Other Supplies 1 pcs Porcelain Receptacle #2 with base for Amglobe 4 2 pcs LED Bulb, 11W 6 3 pcs Elite T5 Electronic Lamp, 28W 33

08/07/2024

**Date Created** 

Created by Annabelle Quinto Madrigal

The PhilGEPS team is not responsible for any typographical errors or misinformation presented in the system. PhilGEPS only displays information provided for by its clients, and any queries regarding the postings should be directed to the contact person/s of the concerned party.

© 2004-2024 DBM Procurement Service. All rights reserved.

Help | Contact Us | Sitemap

Standard Form Number: SF-GOOD-01 Revised on: May 24, 2004

APPROVED BUDGET FOR THE CONTRACT (ABC)
Supply and Delivery of Agricultural Supplies and Other Supplies for the Operation of Banana Tissue Culture of MinSU Main Campus
Alcate, Victoria, Oriental Mindoro

Project Name and Location

Stations: Mindoro State University

Length:									100			
									OTHER COST FACTORS	T FACTORS	-	
ITEM NO.	DESCRIPTION	VIIANITIO		CURRENT MARKET		VAT, OTHER TAXES AND/OR	FREIGHT &	OTHER	INFLATION, CURRRENCY	CURRRENCY		
		COANTILL	ONI	PRICE	TOTAL COST	DUTIES APPLICABLE	INSURANCE	COSTS	%	VALUE	TOTAL COST	UNIT COST
									INFLATION, CURRRENCY	CURRRENCY		
									%	VALUE		
ξ	***	į								(11)	(12)	(13)
	Lot 1 - Chemicals	(3)	(4)	(5)	(9)	(7)	(8)	(6)	(10)	(6)X(5)	(10%[(5)+(10)]	(11) / (3)
	FOCT - CHEIIICAIS				•							
1	6-Benzyl Amino Purine, 5g	1	bottle	11,430.00	11,430.00							I
2	Plant Tissue Agar, 500g	8	bottles	5,910,00	17,730,00				1			
3	Myo-inositol	2	bottles	8.940.00	17,880.00							
	Lot 2 - Other Agricultural Supplies				'				1	1		
1	PEB 4x4x7, 100pcs/bundle	150	bundle	135.00	20.250.00							
2	Complete fertilizers	10	bags	2,200.00	22,000.00							
3	Amosol	2	bags	2.100.00	4.200.00							
4	Fungicide	5		1.600.00	8,000,00					1		
2	Herbicide (Glyphosate 480 SL)	5	gal	2,200.00	11.000.00				Ī	1		
9	Insecticide, 247 ZC	3		2,500.00	7,500.00							
7	Rice Hull, 16cu	3	truckload	5,000.00	15,000.00					1		
8	Garden Soil, 16cu	2	truckload	5,500.00	11,000,00							
	Lot 3 - Other Supplies											
1	Porcelain Receptacle #2 with base for Amglobe	4	bcs	150.00	600.00							
2	LED Bulb, 11W	9	bcs	150.00	900.00							
3	Elite T5 Electronic Lamp, 28W	33	bcs	350.00	11,550.00			Ī				
	XVXVXVXVXVXVXVXVXVXVXVXVXVXVXVXVXVXVX						Ī					
	GRAND TOTAL				159,040.00							T
Prepared by		Submitted by	by		7	Recommending Approva	100		Approved			7

Member, BAC Secretariat REMIELITO C. RICO

Engr. MARK LESTER A MAGRANTAY Head, BAC Secretariat

NEMESIO H. DAVALOS, Ph.D.

Chairperson, BAC

CHRISTIAN ANTHONY C. AGUTAYA, Ph.D. OIC- Office of the University President

Approved

Recommending Approval



# Republic of the Philippines MINDORO STATE UNIVERSITY

Main Campus



Alcate, Victoria, Oriental Mindoro

## **PURCHASE REQUEST**

**Fund Cluster:** 

		Responsibility Center Code :		Date: 05 /22/2020	
Stock/ Property No.	Unit	Item Description	Qty	Unit Cost	Total Cost
	Lot 1	Chemicals			-
	bottle	6-Benzyl Amino Purine, 5g	1	11,430.00	11,430.0
2	bottles	Plant Tissue Agar, 500g	3	5,910.00	17,730.0
3	bottles	Myo-inositol	2	8,940.00	17,880.0
l l		subtotal			47,040.0
	Lot 2	Other Agricultural Supplies			
L	bundle	PEB 4x4x7, 100pcs/bundle	150	135.00	20,250.0
2	bags	Complete fertilizers	10	2,200.00	22,000.0
3	bags	Amosol	2	2,100.00	4,200.0
Ч	L	Fungicide	5	1,600.00	8,000.0
5	gal	Herbicide (Glyphosate 480 SL)	5	2,200.00	11,000.0
(0	L	Insecticide, 247 ZC	3	2,500.00	7,500.0
7	truckload	Rice Hull, 16cu	3	5,000.00	15,000.0
Q.	truckload	Garden Soil, 16cu	2	5,500.00	11,000.0
		subtotal			98,950.0
	Lot 3	Other Supplies			
١	pcs	Porcelain Receptacle #2 with base for	4	150.00	600.0
		Amglobe			
2	pcs	LED Bulb, 11W	6	150.00	900.0
3	pcs	Elite T5 Electronic Lamp, 28W	33	350.00	11,550.0
		subtotal			13,050.0
					STF - 1071
					164 -200 05-773
					502031000
-		Total			159,040.0
ırpose: Suppli	es and m	aterials for the operation of Banana Tissue C	ulture		100,040.0
				Approved as to	

MACARIO B. MASAGCA, JR. CHRISTIAN ANTHONY C. AGUTAYA

VP for RDE

Director for Research

ROVELYN P. ROXAS

Acting Budget Officer III

CHRISTIAN ANTHONY C. AGUTAYA

OIC-University President

Designation:

Printed Name:

Signature:

Republic of the Philippines
MINDORO STATE UNIVERSITY
Main Campus
Alcate, Victoria, Oriental Mindoro

END-USER UNIT: Research and Development (Banana)

	The control and povered by the partial of the control of the contr	-				the process of the same of the		-				-	-	-			-
narged	Charged to STF																
roject,	Project, Programs and Activities						2				,						
CODE	GENERAL DESCRIPTION	TIMIT	OTV	TSOO TIMIT	ESTIMATED	MODE OF			SC	HEDULE	MILE	STONE	SCHEDULE/MILESTONE OF ACTIVITIES	TIVITIE	S		
		5	3	200	BUDGET	PROCUREMENT	Jan	Feb	Mar A	Apr May	ly Jun	luc u	I Aug	Sept	Oct	Nov	Dec
	6-Benzyl Amino Purine, 5g	bottle	1	11,430.00	11,430.00	public bidding				_							
	Plant Tissue Agar, 500g	bottles	က	5,910.00	17,730.00					_							T
	Myo-inositol	bottles	2	8,940.00	17,880.00					_							
	PEB 4x4x7, 100pcs/bundle	pundle	150	135.00	20,250.00					_							
	Complete fertilizers	bags	10	2,200.00	22,000.00					_							T
	Amosol	bags	2	2,100.00	4,200.00					_		-					I
	Fungicide	٦	2	1,600.00	8,000.00					/	_					2	T
	Herbicide (Glyphosate 480 SL)	gal	5	2,200.00	11,000.00	,				/	-					Į.	Γ
	Insecticide, 247 ZC	7	က	2,500.00	7,500.00					/	-						
	Rice Hull, 16cu	truckload	3	5,000.00	15,000.00				,		-	-					
	Garden Soil, 16cu	truckload	2	5,500.00	11,000.00					-	-					T	
	Porcelain Receptacle #2 with base for amglobe	bcs	4	150.00	00.009												T
	LED Bulb, 11W	bcs	9	150.00	900.00					_							T
	Elite T5 Electronic Lamp, 28W	bcs	33	350.00	11,550.00	,			, .	/		-					
											-						I
											-	_					Γ
											-						Γ
											-						Γ
											H	-					
											-						T
											_						
																	Γ
											-					-	Γ
											_						Γ
	TOTAL BUDGET				159,040.00						-						T
															-	-	1

Prepared by:

MACARIO B. MASAGCA, JR.
Director for Research and Development

Submitted by:

CHRISTIAN ANTHONY C. AGUTAYA

Vice President for Research, Development and Extension